



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right) - \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{4} =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{79}{100}$$

$$\left(-\frac{3}{5}\right) - \frac{2}{5} = (-1)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{102}{125}\right)$$

$$\left(\frac{1}{3}\right) + \frac{1}{5} = \frac{8}{15}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) = \frac{17}{20}$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{2} = \left(-\frac{5}{64}\right)$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{206}{375}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{57}{320}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{77}{750}\right)$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} = \frac{11}{100}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{39}{100}\right)$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) = \frac{7}{10}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{2}\right) = \frac{1}{6}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{437}{1080}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{4} = \left(-\frac{129}{500}\right)$$